Transfers Report

This report contains the transfers results.

Contest Name	Ward 4 - Coldside
Valid Votes	5,622
Positions to be Filled	4
Quota	1,125

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Mohammed ASIF	Independent	481
Mark FLYNN	Scottish National Party (SNP)	1,560
Kristopher James HALL	Scottish Liberal Democrats	101
Conor Andrew MARSHALL	Scottish Green Party	232
Christopher John MCINTYRE	Scottish Liberal Democrats	57
George MCIRVINE	Scottish Labour Party	933
Anne RENDALL	Scottish National Party (SNP)	925
Wayne Frank SCOTT	Dundee Against Cuts - TUSC	82
Duncan SHAW	Scottish Conservative and Unionist	618
Helen WRIGHT	Scottish Labour Party	633
	Total	5,622

Candidate Mark FLYNN Elected with 1,560 votes, being in excess of the quota of 1,125

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Mark FLYNN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mohammed ASIF	51	0.27884	14.22084
Transfer to Mark FLYNN	0	0.00000	0.00000
Transfer to Kristopher James HALL	18	0.27884	5.01912
Transfer to Conor Andrew MARSHALL	73	0.27884	20.35532
Transfer to Christopher John MCINTYRE	14	0.27884	3.90376
Transfer to George MCIRVINE	66	0.27884	18.40344
Transfer to Anne RENDALL	1,176	0.27884	327.91584
Transfer to Wayne Frank SCOTT	10	0.27884	2.78840
Transfer to Duncan SHAW	11	0.27884	3.06724
Transfer to Helen WRIGHT	18	0.27884	5.01912
Value of non-transferable ballot papers			34.30692

Total

435.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Anne RENDALL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mohammed ASIF	85	0.02846	2.41910
Transfer to Mohammed ASIF	63	0.10209	6.43167
Transfer to Mark FLYNN	0	0.00000	0.00000
Transfer to Kristopher James HALL	32	0.02846	0.91072
Transfer to Kristopher James HALL	18	0.10209	1.83762
Transfer to Conor Andrew MARSHALL	325	0.02846	9.24950
Transfer to Conor Andrew MARSHALL	294	0.10209	30.01446
Transfer to Christopher John MCINTYRE	9	0.02846	0.25614
Transfer to Christopher John MCINTYRE	11	0.10209	1.12299
Transfer to George MCIRVINE	81	0.02846	2.30526
Transfer to George MCIRVINE	57	0.10209	5.81913
Transfer to Anne RENDALL	0	0.00000	0.00000
Transfer to Wayne Frank SCOTT	64	0.02846	1.82144
Transfer to Wayne Frank SCOTT	40	0.10209	4.08360
Transfer to Duncan SHAW	15	0.02846	0.42690
Transfer to Duncan SHAW	6	0.10209	0.61254
Transfer to Helen WRIGHT	78	0.02846	2.21988
Transfer to Helen WRIGHT	75	0.10209	7.65675
Value of non-transferable ballot papers			50.72814

Total

127.91584

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Christopher John MCINTYRE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mohammed ASIF	1	1.00000	1.00000
Transfer to Mark FLYNN	0	0.00000	0.00000
Transfer to Kristopher James HALL	4	0.02846	0.11384
Transfer to Kristopher James HALL	6	0.10209	0.61254
Transfer to Kristopher James HALL	2	0.27884	0.55768
Transfer to Kristopher James HALL	29	1.00000	29.00000
Transfer to Conor Andrew MARSHALL	2	0.02846	0.05692
Transfer to Conor Andrew MARSHALL	2	0.10209	0.20418
Transfer to Conor Andrew MARSHALL	1	0.27884	0.27884
Transfer to Conor Andrew MARSHALL	3	1.00000	3.00000
Transfer to George MCIRVINE	3	0.27884	0.83652
Transfer to George MCIRVINE	5	1.00000	5.00000
Transfer to Anne RENDALL	0	0.00000	0.00000
Transfer to Wayne Frank SCOTT	1	0.27884	0.27884
Transfer to Wayne Frank SCOTT	3	1.00000	3.00000
Transfer to Duncan SHAW	1	0.27884	0.27884
Transfer to Duncan SHAW	3	1.00000	3.00000
Transfer to Helen WRIGHT	2	0.27884	0.55768
Transfer to Helen WRIGHT	2	1.00000	2.00000
Value of non-transferable ballot papers			12.50701

N.B. The figures may not add due to rounding.

Total

62.28289

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Wayne Frank SCOTT

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mohammed ASIF	5	0.02846	0.14230
Transfer to Mohammed ASIF	1	0.10209	0.10209
Transfer to Mohammed ASIF	5	1.00000	5.00000
Transfer to Mark FLYNN	0	0.00000	0.00000
Transfer to Kristopher James HALL	1	0.10209	0.10209
Transfer to Kristopher James HALL	2	1.00000	2.00000
Transfer to Conor Andrew MARSHALL	20	0.02846	0.56920
Transfer to Conor Andrew MARSHALL	11	0.10209	1.12299
Transfer to Conor Andrew MARSHALL	4	0.27884	1.11536
Transfer to Conor Andrew MARSHALL	30	1.00000	30.00000
Transfer to Christopher John MCINTYRE	0	0.00000	0.00000
Transfer to George MCIRVINE	3	0.10209	0.30627
Transfer to George MCIRVINE	9	1.00000	9.00000
Transfer to Anne RENDALL	0	0.00000	0.00000
Transfer to Duncan SHAW	2	0.02846	0.05692
Transfer to Duncan SHAW	3	1.00000	3.00000
Transfer to Helen WRIGHT	3	0.02846	0.08538
Transfer to Helen WRIGHT	2	0.10209	0.20418
Transfer to Helen WRIGHT	1	0.27884	0.27884
Transfer to Helen WRIGHT	13	1.00000	13.00000
Value of non-transferable ballot papers			27.88666

Total

93.97228

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Kristopher James HALL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mohammed ASIF	3	0.02846	0.08538
Transfer to Mohammed ASIF	2	0.10209	0.20418
Transfer to Mohammed ASIF	2	0.27884	0.55768
Transfer to Mohammed ASIF	18	1.00000	18.00000
Transfer to Mark FLYNN	0	0.00000	0.00000
Transfer to Conor Andrew MARSHALL	9	0.02846	0.25614
Transfer to Conor Andrew MARSHALL	10	0.10209	1.02090
Transfer to Conor Andrew MARSHALL	3	0.27884	0.83652
Transfer to Conor Andrew MARSHALL	21	1.00000	21.00000
Transfer to Christopher John MCINTYRE	0	0.00000	0.00000
Transfer to George MCIRVINE	3	0.02846	0.08538
Transfer to George MCIRVINE	2	0.10209	0.20418
Transfer to George MCIRVINE	4	0.27884	1.11536
Transfer to George MCIRVINE	20	1.00000	20.00000
Transfer to Anne RENDALL	0	0.00000	0.00000
Transfer to Wayne Frank SCOTT	0	0.00000	0.00000
Transfer to Duncan SHAW	2	0.02846	0.05692
Transfer to Duncan SHAW	29	1.00000	29.00000
Transfer to Helen WRIGHT	2	0.02846	0.05692
Transfer to Helen WRIGHT	3	0.27884	0.83652
Transfer to Helen WRIGHT	13	1.00000	13.00000
Value of non-transferable ballot papers			34.83753
	Total		141.15361

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Conor Andrew MARSHALL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mohammed ASIF	89	0.02846	2.53294
Transfer to Mohammed ASIF	90	0.10209	9.18810
Transfer to Mohammed ASIF	7	0.27884	1.95188
Transfer to Mohammed ASIF	73	1.00000	73.00000
Transfer to Mark FLYNN	0	0.00000	0.00000
Transfer to Kristopher James HALL	0	0.00000	0.00000
Transfer to Christopher John MCINTYRE	0	0.00000	0.00000
Transfer to George MCIRVINE	50	0.02846	1.42300
Transfer to George MCIRVINE	46	0.10209	4.69614
Transfer to George MCIRVINE	17	0.27884	4.74028
Transfer to George MCIRVINE	53	1.00000	53.00000
Transfer to Anne RENDALL	0	0.00000	0.00000
Transfer to Wayne Frank SCOTT	0	0.00000	0.00000
Transfer to Duncan SHAW	3	0.02846	0.08538
Transfer to Duncan SHAW	5	0.10209	0.51045
Transfer to Duncan SHAW	3	0.27884	0.83652
Transfer to Duncan SHAW	5	1.00000	5.00000
Transfer to Helen WRIGHT	16	0.02846	0.45536
Transfer to Helen WRIGHT	25	0.10209	2.55225
Transfer to Helen WRIGHT	7	0.27884	1.95188
Transfer to Helen WRIGHT	43	1.00000	43.00000
Value of non-transferable ballot papers			146.15615
	Total		351.08033

Transfers Report

This report contains the transfers results.

Stage 8 - Exclusion of Mohammed ASIF

N.B. The figures may not add due to rounding.

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mark FLYNN	0	0.00000	0.00000
Transfer to Kristopher James HALL	0	0.00000	0.00000
Transfer to Conor Andrew MARSHALL	0	0.00000	0.00000
Transfer to Christopher John MCINTYRE	0	0.00000	0.00000
Transfer to George MCIRVINE	71	0.02846	2.02066
Transfer to George MCIRVINE	61	0.10209	6.22749
Transfer to George MCIRVINE	24	0.27884	6.69216
Transfer to George MCIRVINE	149	1.00000	149.00000
Transfer to Anne RENDALL	0	0.00000	0.00000
Transfer to Wayne Frank SCOTT	0	0.00000	0.00000
Transfer to Duncan SHAW	8	0.02846	0.22768
Transfer to Duncan SHAW	4	0.10209	0.40836
Transfer to Duncan SHAW	1	0.27884	0.27884
Transfer to Duncan SHAW	45	1.00000	45.00000
Transfer to Helen WRIGHT	20	0.02846	0.56920
Transfer to Helen WRIGHT	32	0.10209	3.26688
Transfer to Helen WRIGHT	7	0.27884	1.95188
Transfer to Helen WRIGHT	112	1.00000	112.00000
Value of non-transferable ballot papers			288.19301

Total

615.83616

Transfers Report

This report contains the transfers results.

Stage 9 - Surplus of George MCIRVINE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mohammed ASIF	0	0.00000	0.00000
Transfer to Mark FLYNN	0	0.00000	0.00000
Transfer to Kristopher James HALL	0	0.00000	0.00000
Transfer to Conor Andrew MARSHALL	0	0.00000	0.00000
Transfer to Christopher John MCINTYRE	0	0.00000	0.00000
Transfer to George MCIRVINE	0	0.00000	0.00000
Transfer to Anne RENDALL	0	0.00000	0.00000
Transfer to Wayne Frank SCOTT	0	0.00000	0.00000
Transfer to Duncan SHAW	9	0.00229	0.02061
Transfer to Duncan SHAW	8	0.00824	0.06592
Transfer to Duncan SHAW	8	0.02252	0.18016
Transfer to Duncan SHAW	62	0.08078	5.00836
Transfer to Helen WRIGHT	163	0.00229	0.37327
Transfer to Helen WRIGHT	133	0.00824	1.09592
Transfer to Helen WRIGHT	39	0.02252	0.87828
Transfer to Helen WRIGHT	779	0.08078	62.92762
Value of non-transferable ballot papers			28.32513
	Total		98.87527

Transfers Report

This report contains the transfers results.

Stage 10 - Exclusion of Duncan SHAW

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Mohammed ASIF	0	0.00000	0.00000
Transfer to Mark FLYNN	0	0.00000	0.00000
Transfer to Kristopher James HALL	0	0.00000	0.00000
Transfer to Conor Andrew MARSHALL	0	0.00000	0.00000
Transfer to Christopher John MCINTYRE	0	0.00000	0.00000
Transfer to George MCIRVINE	0	0.00000	0.00000
Transfer to Anne RENDALL	0	0.00000	0.00000
Transfer to Wayne Frank SCOTT	0	0.00000	0.00000
Transfer to Helen WRIGHT	8	0.00229	0.01832
Transfer to Helen WRIGHT	7	0.00824	0.05768
Transfer to Helen WRIGHT	8	0.02252	0.18016
Transfer to Helen WRIGHT	12	0.02846	0.34152
Transfer to Helen WRIGHT	28	0.08078	2.26184
Transfer to Helen WRIGHT	10	0.10209	1.02090
Transfer to Helen WRIGHT	7	0.27884	1.95188
Transfer to Helen WRIGHT	225	1.00000	225.00000
Value of non-transferable ballot papers			484.28934
	Total		715.12164